AARDINOARINAY

<

<&

4

>

i\

<

£

>. .<
4 N\
> <
K V4
: ;
g OWNER’S MANUAL ?
S >
4 N
5 <!
! V4
S %
; N
< 9
_ <‘ SEGA ENTERPRISES, LTD. ’>
4 N
A AN AN AN AR AN

NNNNNNNNNNNNNNNNNNNN


Jim Thiercof



TABLE OF CONTENTS

INTRODUCTION TO THE OWNER’S MANUAL ..........coocuvvieiimmiesosoeo 1
1. HANDLING PRECAUTIONS ........c.c.uu........ Fe e e e e et er e aaaas 2
2. PREVENTION OF COUNTERFIETING AND CONVERSION .........ccoovvvooeeeo 2
3. PRECAUTIONS CONCERNING THE PLACE OF INSTALLATION ...........oooooon.. 3
4. NAMEOFPARTS 1 ...ocooiiiiiiiiiiiiiiiniieieene e 3
5. NAME OFPARTS 2 .....ooooiiiiiiiiiiiiiiiiiiiieeeiee e 4
6. OPENING THE CONTROL UNIT .........ccoeruemririiinaneneeseeseosooo 5
7. HANDLE UNIT ADJUSTMENT ......c..coemtimuiinniieiieeneeeeeeeeeseoee oo 6
8. REPLACING THE MOTOR BRUSHES .............oocvimmimieeiaiiisoo 7
9. THROTTLE UNIT ADJUSTMENT .......ccoeomuririiiniiiiaeeeeeesoeseoessooooo 8
10. ICBOARD ......c..oiiiiiiiiiiiiiiiiiiiit ettt 9
11. SERVICE SWITCH FUNCTIONS .........coovimiiiniiiiieeeeeeeeeersoosoosooooon 10
12. DIP SWITCH ..ottt 11
13. EPROM/MASK ROM LOCATIONS .....ccovvimuiiiniiiiieeeeeeeeeeeessoesooon 13
14 PARTS LIST ...ooniiiiiiiiniiiiiiic ittt e 14
15. WIRING DIAGRAM .....oocoiuiiiiiiiiicteiieie et 24
UPRIGHT TYPE
SPECIFICATIONS

INSTALLATION SPACE : 630 mm (24.8 in.) W x 860 mm (33.9in.)D

HEIGHT : 1850 mm (72.8 in.)

POWER : 240W

CR.T. : 20" MONITOR

WEIGHT : 124 kg (273 1bs.)

NOTE

* Descriptions herein contained may be subject to improvement changes without notice.

INTRODUCTION TO THE OWNER’S MANUAL

SEGA ENTERPRISES, LTD., supported by its high electronic technology of LSIs, micro-
processors, etc. and a wealth of experience, has for more than 30 years been supplying various
innovative and popular game machines to the world market. This OWNER’S manual is intended to
provide detailed comments together with all the necessary information covering the operation in
general of electronic assemblies, electromechanicals, servicing control, spare parts, etc. as regards
the AFTER BURNER U/R, a new SEGA product. The manual is intended for those who have
knowledge of electricily and technical expertise especially in ICs, CRTs, microprocessors, etc.
Carefully read so as to acquire sufficient knowledge before working on the machine. Should there
be a malfunction, non-technical personnel should under no circumstances touch the interior system.



1. HANDLING PRECAUTIONS

When installing or inspecting, be very careful of the following points and pay attention to ensure
that the player can enjoy the game safely.

» Be sure to turn the power off before working on the machine.

+ To insert or pull out the plug quickly is dangerous.

« It is necessary to make sure that the power cord or the grounding wire is not exposed on the
road, etc. in a2 manner so as to be dangerous. Make sure that grounding connections are made
safely at the position where so specified.

« Do not use any fuse that does not meet the specified rating.

» Make complete connections for the IC board and other connectors. Insufficient insertion is very
dangerous.

Also, for the IC board circuit inspections, only the logic tone is allowed. The use of a tester is not
permitted, so be careful in this regard. After confirming that there are no irregularities, turn the
power ON.

2. PREVENTION OF COUNTERFEITING AND CONVERSION

LABELLING

To prevent counterfeits and conversions, the following labels are put on all the SEGA products.
When handling such goods, be sure to confirm the labels. They are used to prevent illegal acts such
as the unauthorized copying of the products and the printed circuit boards thereof or carrying on
business by manufacturing similar merchandise or by converting, selling or using such products or
printed circuit boards.

ORIGINAL SEAL LICENSE SEAL
The following seal is put on the The following seal is put on the kits, such as
machines manufactured by SEGA. the printed circuit boards, of SEGA products.

;. SEGBA ; :
s (AU FRE] S (RBETHA) 4
4 |ORIGINALSEAL ¢ |LICENSESEAL j ¢
4 This PAODUCT 15 DISIGNED * “ This PRODUCT IS ¢

AND MANUFACTURID B Y " § MANUFACTURED UNDER r
j ston enTeRPRes (T ;‘ : ﬁl(‘:”:Nb‘(cnp;:lsl‘S[gilvo +
3 ORIGINAL = ¢ 4 LICENSE® :
}| aFTERBURNERUR |} 1| arrerBURNERUR |{
1\NO ' 1|no ¢
4 ¢ 4 :
9 L ] t

SEGA ENTERPRISES (1D SEGA ENTEHPAISES L1D

JaPan Japan
R R R R e b s s mis o o o o o o e

COPYRIGHT NOTICE
This SEGA product has the copyright notice as follows:

© SEGA 1987
This signifies that this work was disclosed in 1987 and is the property of SEGA ENTERPRISES, LTD.



3. PRECAUTIONS CONCERNING THE PLACE OF INSTALLATION

The SUPER AFTER BURNER U/R is an indoor game machine. Absolutely do not install it
outside. Even indoors, avoid installing in places mentioned below so as to ensure proper usage:

+ Places subject to rain or water leakage, or condensation due to humidity.
* In the proximity of an indoor swimming pool and/or shower.

* Places subject to direct sunlight.

» Places subject to heat sources from heating units, etc., or hot air.

* Vicinity of highly inflammable/volatile chemicals or hazardous matter.

* Sloped surfaces.

* Vicinity of anti-disaster facilities such as fire exits and fire extinguishers.
* Places subject to any type of violent impact.

* Dusty places.

4. NAME OF PARTS (D

LAMP
20" MONITOR

SPEAKER

HANDLE GRIP

ASSY CABINET
. PLAY INST PLATE
ASSY THROTTLE ASSY CONTROL UNIT
STARTBUTTON

COIN ENTRY

COIN CHUTE DOOR

CASHBOX DOOR



TOOLS

(TAMPERPROOF WRENCH) (TAMPERPROOF DRIVER)
M 4 540-0006-01 M4 5400018
M5 540-0007-01 M5 5400017
M 8 540-0009-01 M8 5400011

\/\@@%

5. NAME OF PARTS O

FAN MOTOR

MOTORDG 48V —

T SHIELDGOVER

ASSY POWER SPLY



6. OPENING THE CONTROL UNIT

TAMPER PROOF SCREW / i

M8 x 40

CONTROL UNIT
\

COIN CHUTE DOOR

FLAT WASHER
SPRING WASHER M5

SCREW M5 x 25

» To open the CONTROL UNIT, take off the 4 TAMPERPROOF SCREWS (D,
open the COIN CHUTE DOOR, take off the 2 (M5 x 25) SCREWS @), and the
entire CONTROL UNIT will open towards you.

* Opening the CONTROL UNIT allows for spring replacements, handle centering V.R.
adjustments, motor brush replacements and THROTTLE UNIT centering adjustments.



7. HANDLE UNIT ADJUSTMENT

In the test mode, cause the
DIAGNOSTIC INPUT DISPLAY 4 DIAGNOSTIC )
. INPUT TEST
to appear on the screen (to select it,
push the test switch and move the COIN #1 OFF START OFF
handle upward and downward). COIN #2 OFF SERVICE OFF
‘VALCAN OFF
'MISSILE OFF
STICKRIGHT LEFT 80H @
STICK UP DOWN 8OH @
\SPEED 80H )

@ To make VR adjustments in a horizontal direction (RIGHT/LEFT), release the VR “A” bracket’s
“A” screws and turn gear “A” in a manner so that when the handle grip is in an unoperated status,
80H + 2H is obtained. At this time, also make backlash adjustments.

@ When making vertical (UP/DOWN) adjustments, while maintaining the present inclination of the
handle unit, unfasten the gear “C” bracket’s “B” screws and fasten the gear “C” bracket when the
monitor display shows 80H + 2H. For backlash adjustments, loosen the VR “B” bracket.

VR *A”

GEAR*C”

VR ‘B" SCREW "B” GEAR ‘B’



8. REPLACING THE MOTOR BRUSHES

{
i
TAMPER PROOF SCREW

M8 x 40

MOTOR

FLAT WASHER
SPRING WASHER M5
SCREW M5 x 25

To replace the motor brushes, release the cap with a screwdriver, etc., and take out the
brushes. Replacement once every 6 months is recommended. Make sure that both
brushes are replaced at the same time.

MOTOR
350-5113 BRUSH

601-5929

0 e~ @_\ o

N



9. THROTTLE UNIT ADJUSTMENT

4 DIAGNOSTIC \

INPUT TEST
COIN #1 OFF START OFF
COIN #2 OFF SERVICE OFF GEAR
VALCAN OFF
MISSILE OFF @
e

STICK RIGHT LEFT 80H — |
STICKUP DOWN  80H ©)

\_ SPEED 80H —__ /

5
ADJUSTMENT SCREW

Unfasten the 2 adjustable screws to loosen the volume bracket, making sure that in
relation to the gear engagement, the variable value in the test mode is within the
allowable adjustment range, and then refasten the adjustment screws.

Reference value

~

Minimum < [ 7CH | 7DH | 7EH | 7FH [80H [81H [82H |83H [84H | - Maximum




10. IC BOARD

5V AND GND FOR SOUND
0P 4P

T e oyt e

R.G.B. TO CONTROL UNIT INPUT I/O
6P 2P 50P

- HOW TO REMOVE THE IC BOARD

1. Disconnect all of the harness to the filter board
(839-0108) CONNECTORS.

2. Take off the SCREW (M4 X 16 w/flat washer and spring
washer) D which secures the SHIELD BASE.

3. Completely pull out the SHIELD BOX, take off the 18 S
TITE SCREWS (M4 x 6 w/flat washer) and remove the
SHIELD COVER.

4. Take off the 6 S TITE SCREWS (M3 x 12 w/flat
washer) which secure the IC BOARD.

5. The IC BOARD can be removed by taking off the
inserted connectors.



11. SERVICE SWITCH FUNCTIONS

The layout as shown below can be viewed by opening the coin chute door.

® VOLUME ADJUSTMENT

@ FUSE HOLDER

COIN CHUTE DOCR

(@ SERVICE SWITCH

(® TESTSWITCH

INSTRUCTIONS

@ SERVICE SWITCH.............c.counee. Used for the purpose of servicing and increasing the
credits without registering on the meter (this allows you
to check the game).

@ TEST SWITCH .....ccccovvvivniiniinnn, For operating this switch, see SELF-TESTING.

@ VOLUME ADJUSTMENT ............. The volume of the speaker inside the cowl can be
adjusted.

@ FUSE HOLDER .....cccvvvvvviiennnn When the motor is overloaded, the fuse will be

burned out, causing the motor which is connected with
the handle, to stop. To restart it, replace the fuse with
same current limit.



12. DIP SWITCH SETTING

COIN/CREDIT OPTION SWITCH SETTING DIPSW A
OPTION 1 2 3 4 5 6 7 8
1COIN 1 CREDIT oFf| oFf| OFF| OFF | oFF| OFF| OFF| OFF
1COIN 2CREDITS ON OFF| OFF] OFF] ON OFF| OFF | OFF
1COIN 3CREDITS OFF| ON | OFF| OFF | OFF| ON | OFF| OFF
5COINS 1 CREDIT ON | oN | oFF| oFF] ON | ON | OFF| OFF
6COINS 1 CREDIT OFF| OFF| ON | OFF| OFF| OFF| ON | OFF
7COINS 1 CREDIT ON | oFF| ON | OFF| ON | OFF] ON | OFF
2COINS 1 CREDIT OF+ | ON ON OFF } OFF| ON ON OFF
3COINS 1 CREDIT ON | oN| ON ]| OFF| ON | ON | ON | OFF
4COINS 1 CREDIT oFf | ofFfF| oFF| oN | oFf| OFF] OFF| ON
2COINS 3 CREDITS oN | oFfF| oFfF| on | oN | OFF| OFF| ON
2COINS 1 CREDIT
3COINS 2CREDITS
5COINS 3 CREDITS oFF| oN | oFF] OoN | oFF| ON | OFF| ON
6COINS 4 CREDITS
2COINS 1 CREOIT
4COINS 3 GREDITS ON | oN | oFF| oN | ON | ON | OFF{ ON
1COIN 1 CREDIT
2COINS 2CREDITS
3COINS 3CREDITS OFF| oFF| ON | ON | OFF| OFF] ON | ON
4 COINS 4 CREDITS
5COINS 6 CREDITS
TOON T CREDIT COINSW1 COINSW2
2COINS 2CREDITS
3COINS 3CREDITS OoN | oFF| oN | ON | ON | OFF| ON | ON
4 COINS 5 CREDITS
1COIN 1 CREDIT
2COINS 3CREDITS OFF| oN | oN | ON | OFF] ON | ON | ON
FREE PLAY ON|jON| oN| oN |]oN| ON] ON| ON
COIN SW. #1 COIN SW. #2
GAME OPTION SETTING DIPSWB
OPTION 1 2 3 4 5 6 7 8
MOVING DX | OFF | OFF
CABINET MOVING STD | ON | OFF
TYPE UPRIGHT | OFF | ON
NOTUSED | ON | ON
ADVERTISE OFF OFF
SOUND ON ON
SHIPS PER 3 PLAYERS OFF
CREDIT 4 PLAYERS ON
SHIP NO OFF
INCREASE YES ON
CONTINUE NO OFF
PLAY YES ON
NORMAL OFF | OFF
GAME EASY ON | OFF
DIFFICULTY  HARD OFF | ON
HARDEST ON | ON

COIN METER



g I | |——l==
]
DIP SW
B A
C— 3
— I 1 L LI 1

/

\DIP SWA

v

SHIELD BASE
DIPSWB



13. EPROM/MASK ROM LOCATIONS

GAME BD AFTER BURNER 834-6335-01
;l L | s B e |
2022 25
26
-24
21]23 27
29131
[o2] N
[e2] [e0]
15 |9 [13 S S 30/32
o o
2|6 |04
317 1115
418 12[16{17]18]19
= I 1 I 1 I ]
IC LOCATION MAIN WORK
1 Ic 93
2 Ic 97
3 IC 101 OBJECT
4 IC 105 (CHARACTER &
5 Ic 92 SCENE SCENERY)
6 IC 9%
7 IC 100
8 IC 104
9 IC o1
10 IC 95
11 IC 99
12 IC 103
13 IC 90
14 IC o4
15 IC 98
16 IC 102
" IS 154 FIX SCROLL
19 IC 152 CHARACTER
20 IC 58
21 IC 63
2 - MAIN PROGRAM
23 IC 62
24 Ic 17 SOUND PROGRAM
25 Ic 11
26 Ic 12 SOUND DATER
27 Ic 13
28 IC 40 ROAD
29 Ic 21
30 IC 30
3 o SUBPROGRAM
32 IC 29




14. PARTS LIST

®E®E
/

ITEM

(=)
90000

ASSEMBLY CABINET PARTS LIST

PARTS NUMBER

DESCRIPTION

OCoo~NOODWN —

000-0525
008-0516
008-0535
029-0099
1050-0064
1170-0184
1170-5131
1170-5131A
130-5018
1500-0173
1500-0173A
1502-0000
1710-5151

M SCR PH M5X25 (PANEL)
TMP SCR M5X16 (PANEL)
TMP SCR M5X35 (TV DOOR)
TMP SCR M8X40 (PANEL)
MAIN SW. BRACKET
TERMINAL BLOCK, 4P
TERMINAL BLOCK, 5P
TERMINAL LUG

SPFAKER 8-OHM 10W W/SHIELD
CAPACITOR, 4700 uF 50V
CLAMP, CAP .
POWER CORD RETAINE

FAN SCREEN COVER



2000-5090
2141-5064
2200-0000
2200-5179
2600-0011-01
3901-5167
400-5070
400-5071
4211-6671
4810-0157
5090-0039
5090-5028
5140-0031
5240-0034
5140-0036
5140-0064
5142-0000
5600-5115
6010-0001
6010-0042
6010-0429
834-6335
839-0035-01
839-0048
839-0051
839-0108
KRO-1721
TX-13001
TX-1616
TX0-1623
TX1-1601-D
TX1-1601-E
TX1-1601-F
TX1-1605
TX1-1608
TX1-1609
TX1-1610
TX1-1617
TX1-1618
TX1-1619
TX2-0000
TX2-0001
220-5130
509-0058
510-5009
540-006-01
540-0007-01
540-0009-01
601-5929
TX-1317
TX-1330
TX-1423

TV MONITOR

LAMP SOCKET

COIN DOOR

VOL CONT B-5K

FAN 110V

LAMP 110V 30W

DC/DC CONVERTER

SW REGULATOR, 5V/7A
STICKER, DANGER

RECTIFIER, BRIDGE 2A

PUSH BUTTON POWER SW
PUSH BUTTON SW

FUSE 6A, FAST

FUSE 5A, FAST

FUSE 3A, FAST (MOTOR)

FUSE HOLDER 2P

FUSE HOLDER, PANEL
TRANSFORMER (160P6)

FUSE COVER

KNOB 22m

LINE FILTER

GAME BOARD

POWER AMP DC12V 10W

SSR BOARD, MOTOR

SSR BOARD, LAMP

FILTER BOARD

SW BRACKET

CONTROL PANEL ASSY
WINDOW MASK ASSY
BRACKET, WINDOW MASK, TOP
STICKER, SIDE R

STICKER, SIDE L

STICKER, SEGA

ORNAMENT PLATE, TOE GUARD
MAIN BRACKET, CONTROL ORNAMENT SASH L
ORNAMENT SASH L
ORNAMENT SASH R

SHIELD COVER

SHIELD BASE

ACCESS PLATE

CORNER PROTECTOR, LEFT
CORNER PRTOECTOR, RIGHT
VOL CONT B-5K (SPARE PARTS)
PUSH SW VALCUN (SPARE PARTS)
PUSH SW MISSILE (SPARE PARTS)
WRENCH, M4 (SPARE PARTS)
WRENCH, M5 (SPARE PARTS)
WRENCH, M8 (SPARE PARTS)
MOTOR BRUSHES (SPARE PARTS)
EXT. SPRING (SPARE PARTS)
EXT. SPRING (SPARE PARTS)
EXT. SPRING (SPARE PARTS)



COHSES

(DSOS

LN ©

6 ooc\

CONTROLLER UNIT ASSEMBLY PARTS LIST

ITEM PARTS NUMBER DESCRIPTION

1 TX-1351 SUB ASSEMBLY CONTROLLER
2 TX-1352 ASSEMBLY SHOCK MECHANISM
3 TX-1318 VR BRACKET A

4 TX-1334 VR BRACKET B

5 TX-1307 ADJUST PLATE

6 MX-2017 ADJUSTER

101 100-5042 BEARING D=12

102 220-5130 VOL CONT 5KOHM

103 601-5410 GEAR 15 D=16

104 601-5423 GEAR 1/6

201 000-0408-FS M SCR W/FS M4 X 8

202 000-0408-S M SCRW/FS M4 X 8

203 000-0412-FS M SCR W/FS M4 X 12

204 028-0003 SET SCR PH SPECIAL M3 X 8
205 028-0021 SET SCR PH SPECIAL M4 X 16
206 061-0006 SPR WSHR M6

207 054-0006 U NUT M6



O “
I\
C{ ©® SO OB

THROTTLE ASSEMBLY PARTS LIST

ITEM PARTS NUMBER  DESCRIPTION

1 TX-1418 THROTTLE BASE

2 TX-1419 VR BRACKET

3 TX-1402 THROTTLE LEVER

4 TX-1403 SWING ARM A

5 TX-1404 SWING ARM B

6 TX-1405 SHAFT SWING ARM

7 TX-1406 GUIDE RING

8 TX-1423 EXT. SPRING

9 TX-1003 ADJUST PLATE

10 CY-2307 ROLLER

11 KR-1303 STOPPER PLATE

12 TX-1422 STUD

13 TX-1430 STOPPER BRACKET U/R
101 220-5130 VOL CONT B-5K OHM
102 601-5424 GEAR 30

103 601-5863 GEAR 1/4

201 065-0004 E RING 4mm

202 065-0008 E RING 8 mm

203 054-0006 U NUT M6

204 000-0414-S M SCR PHW/S M4 X 14
205 000-0408-FS M SCR PH W/FS M4 X 8
206 060-0010 FLT WSHR M 10

207 045-0022 COTPIN2.5X 20

208 028-0014 SET SCR HEX SKT CP M4 X 4
209 000-0406-S M SCR PH W/S M4 X 6

210 054-0004-S U NUT M4



HANDLE GRIP ASSEMBLY PARTS LIST

ITEM PARTS NUMBER DESCRIPTION

1 TX-1336 HANDLE GRIP LEFT

2 TX-1337 HANDLE GRIP RIGHT

3 TX-1338 BUTTON

4 TX-1339 COMPRESSION SPRING
5 CD-2041 TRIGGER

6 CD-2042 SHAFT TRIGGER

7 125-0011 COMPRESSION SPRING
8 839-0087 SWITCH BOARD

9 600-5521 WIRE HARNESS, HANDLE GRIP
101 509-0058 MICRO SWITCH

201 029-0052 TMP PRF SCR PH M5 X 10
202 029-0134 MSCRPHM2X 10



(DSOS
2\

D SEGA
A 3 AFTER .
) BURNER O
; : ()
®\ ) )
o o[
& 2
LOCK ON
©)
FRONT MASK ASSEMBLY PARTS LIST
ITEM PARTS NUMBER DESCRIPTION
1 TX1-1616-A FRONT PANEL W/OUT MASK
2 " TX1-1616-B PLATE R
3 TX1-1616-C PLATE L
4 TX1-1616-D STICKER, AFTER BURNER
5 TX1-1616-E STICKER. SIDE R
6 TX1-1616-F STICKER. SIDE L
7 TX1-1616-G STICKER, JET NOZZLE R
8 TX1-1616-H STICKER, JET NOZZLE L
9 TX1-1616-J PLATE, LOCK-ON
10 TX1-1616-K BRACKET
11 TX1-1616-L GUARD PLATE, SPEAKER
12 TX1-1616-AX SCREEN, CLEAR SMOKE
201 008-0416 TMP SCR M4X16
202 031-0414-B CARRIAGE BOLT BLACK M4X14
203 051-0004 FLANGE NUT M4






CONTROL PANEL ASSEMBLY PARTS LIST

ITEM PARTS NUMBER DESCRIPTION

1 TX-14001 ASSEMBLY THROTTLE

2 TX-1341 CON PANEL BASE

3 TX-1342 FLAG PLATE

4 TX-1343 SHLDER SCREW

5 TX-1344 COVER

6 TX-1345 GUIDE PLATE

7 TX-1346 SLIDE PLATE A

8 TX-1347 SLIDE PLATE B

9 TX-1366 HINGE 590

10 TX-1348 CONTROL PANEL COVER
11 TX-1350 ASSEMBLY CONTROLLER
12 TX-1349 THROTTLE COVER

13 TX-1367 COVER HOLDER

14 TX-1335 ASSEMBLY HANDLE GRIP
15 TX-1310 HOLDER A

16 TX-1356 PROTECT TUBE

17 HN-1069 RUBBER CUSHION

18 422-0209 PLAY INSTRUCTION PLATE
19 TX-1369 FLAG

20 TX-1370 COVER A

101 509-5050 START SWITCH W/LMAP
201 059-0014 WELL NUT M4

202 001-0406 MSCRFHM4 X6

203 008-0408 TMP PRF SCR M4 X 8

204 008-0416 TMP PRF SCR M4 X 16
205 029-0052 TMP PRF SCR M5 X 10
206 08-0516 TMP PRF SCR M5 X 16
207 008-0520 TMP PRF SCR M5 X 20
208 000-0516-FS M SCR PH W/FS M5 X 16
209 000-0525 M SCR PH M5 X 25

210 061-0005 SPR WSHR M5

211 054-0005 U NUT M5

212 069-0064 FLT WSHR BLK 5.5-20 X 6
213 008-0525 TMP PRF SCR TH M5 X 25

214 005-3113-F

WSCRPHW/F3.1X13



oWe%@g
./

DD (O

20
m\
(=)
00)
D
P

g
1

oL
| .

|
|

LA

4

58

]
¥

%

O
P

N

=

B

p

®

o
5

&

1P|
/

me%eéwu

HHD

=




SHOCK MECHANICAL UNIT PARTS LIST

ITEM PARTS NUMBER DESCRIPTION

1 TX-1353 MAIN BASE

2 TX-1354 MOVING BASE

3 TX-1357 MOTOR BRACKET
4 TX-1358 SLIDE PLATE BOTTOM
5 TX-1359 SLIDE PLATE SIDE
6 TX-1360 GUIDE WASHER

7 TX-1361 SHOULDER SCREW
8 TX-1362 ROD

9 TX-1363 CAM

10 TX-1364 SHAFT

12 TX-1325 SPRING BRACKET
13 TX-1326 FRONT GUIDE

14 TX-1327 SIDE PLATE

15 TX-1328 SHAFT B

16 TX-1329 PIPE

17 TX-1330 EXT. SPRING

19 TX-1331 HOLDER L

20 TX-1332 HOLDER R

21 TX-1333 BUMPER B

102 350-5113 MOTOR DC45V

201 000-0412-FS M SCR M4 X 12
202 001-0414 MSCR M4 X 14
204 000-0510-FS MSCRM5X 10
205 000-0512 MSCRM5 X 12
206 029-0035 M SCR M6 X 12
208 060-0008 FLT WEHR M8

209 060-0010 FLT WSHR M10
211 061-0006 SPR WSHR M6

212 065-0006 E RING 6mm

213 045-0022 COTPIN2.5X20
214 054-0004 U NUT M4

215 054-0006 U NUT M6

216 054-0005 U NUT M5

217 000-0305-S MSCRM3X5

218 028-0012 SET SCREW SPECIAL M5 X 12
219 045-0014 SPRPIN3 X 26



e
&~ P28 ~FIS

————— e .

£0/0- 668
> 1%l fade
HEGRE
Tl P08 B
L2455~ e | g m
557 2/
o o o P
LE=] yanes
waeT T ot [Fancn =
b —pEa—roL 4 W4 and
! sT—TeaT—To5 [ s =
= SEO§T =g
ETor e
| 8 G 3 €
: W= N Ppancs
& 0/ ’ J
SIVING 2Ly TT YD
i % = L] =T
s8 14 -
! N SEET-LE8 w 4 4 =)
G 12 “«
= e

NVIDVIA ONIIIM °



SEGA ENTERPRISES, INC. (USA)
2149 Paragon Drive
San losc, CA 95131
Tel (408) 435-0201
€ SEGA 1987



r— N ‘
Py | Y e 1® ‘ - o aa—
> o= [V —
v2 ., Vi :‘(ﬁ(ﬁf e ,“ "“na.( / ) [ Pecom— i
\"2 3 a: > :: 21 3!?:":: Lo~ /7 ‘ 'A—-—-——- i
_ — (Aj -—— - - = ~ ——————e i
o be EAIN ' ol il g 43| [ an] b} 0] o sit 5 53] 54 < Al~ 2t py r— :
A, [T w2z A ATR RA T . 3 LA . i v
o | oy 5p O 23 [ g < SDp 12 ELIRE XAy :lm‘ \ HOD~ (S by T—— i
. * iom| o ! A 5 w1 S 3y [ 2 A - — > _--——-1— :
%3 =i N ;
n ‘E,;E: b <i 5 o w41 3 . Fwd SBAM FWeIE T pgy i
S a3 P 1y T z 51000 \ SHB~IS = @
m Lhoa A <l L bR !
LJo00 - , . =R PETE A~ 19
R iy & 2 . [ { 3 sk —> P2
e gz 1 3l s 47 7 29 2t
onup—id v [2MHZ
et w19 e 1 1 A ears oy : 2% ¢ nNes .1
n c;—: Tene w3 A 5| B N q o ~r|
Icse7 ‘=- ves - 10 ] o 7 P P 1 e 12 Noem B Ul .
R BTV {17399 z T pe ! T A, o « »
N A L ISM 3 s - - T - - i G o} I
26 < ) _ oo A &i -0 JIS . 5 2 S0 9 n BY i M1 r— — org
sive . w s [} = ' ey 8 g i sl % | T w022 227
N et P A o B r  * o1l i e PP LI S
ah i L7 38 [ f : T
] b 0} 2is = 19 1S SDig P28 2l s “':ns !
- L - AT |
2 T_ - Linad J . 5 14 T 2 5
| =< ‘ L ik O A B } Al saple oM oo =i A 4'“ Ia9 Yo RE s
st g i ol o =) ST XY e i
7 Nyre oy ] el L T ik neZ =
b7as — i 4 : B ' kal s o a fasy
T A 8t ! ia s >t 3 = i ) 20223
VS I e & o E) ! T T ) | o i
yz‘%f BR = 1 ) [ Yy A 35} [, L
9 BRAK ¥ ¢ . n 5 § 20 / it |
n_1 ] ) “ 1 iy Fil]
5 e A 5] g3k wees ] ] W o 2
L % 49 iw T A
‘ap W 23 " un 3y A +
W A 22 ' re LAY A )
4y 1% 21 ” 8 P!\) HAX 1 (s A 44
ies g 2 Ny 1§ at A +4
ST 0 j20PIN  FLAT RN W = THIS ‘_ 0
e as 17 A ¥ % M 2ilrao N 5 TS BEIRE ; FoOND
18¢ iZhA 20 a1t | m ‘T r1 a9 € fhe - LN :'l
! Icier | « 11 we 11 & % 19 911339  / “1 h/ :
. 2 . o
AR HAIR /o 2y SA1 1 Al
A:J 3 2! A —_— 1A
;:; o By
TR 1028,
A3 . 08 1
.
l . X 9.811 4F TITaw ¥ I
i3 mm—— X , Y .
‘ ———=3-MpTACK . | B TSR F Ao T ) STALK
3 = — e
PR R, c522 T e} =)
R Wi Ta74 TAoC =
FC | N £ 2 /1 M s -
T 3'_)'_/‘__,';—\ FS . -ﬂa 2 :1_ =4 2av-hy 22 23 S~ W
Bl —= : —DG__/O—I Tosz PR or A BE L ) s g
= U i ! reg i ey H CRY LT InRRag rme R T2 0
. z ir— 7 u A 0348.7 T n., 1M AN0.L T 4 H
i { IS o L vPA Ciam TSR tn}
ey el 242 | i
VB , s i e
. vl FAE A3 —
Pl o DTAL A s ; 13 -‘éi;lx;%l’ ;! } I \ ;: AS
4 ITACK i ! T : i [ SRe (== i N E
- m% e UQ: % 1 ! AL S ! PR M-
P13 E e L2 e 3UBSa e TT4Les Test F3z
3 I
a9 o Y SR/
an "‘I"'C =~ } 21 s
! 40
T = i s P - T
77 55X1M e ——2dAe R ' i T 2R i !
Hrpty " i Zh 3a C;) | ' -d B4 WIS 5y
4 Hatry % 2] ;
) 1 E 34 NCk -
: %LQ RESEY | SWTAR o 3
4Tk .
I ‘ w24 - | | Kse 3
1’ ) ZTRNTE (4as) | icw Lol I
—— te F32 — . {
s , » Lfeat | X cshwa P Suwk
Plr— ‘ suast ! I
Py piliss. i T 2 31 | ig - ’ ?3.P%
> | oL ml = ~ su L L Fat ‘ lz sz, S — [ ’ -
-— ¢ — I 3 L
} 2 a a T 5N\ L/ Sl Y
DTALKS I & ; b = — =T | | s
P4 RECET T I I T IEENGHREED K . -’-gg ch‘ 'L SR3 P3.7%
payRECE : : L—! NEE I:] [“1 |4 piee Teeg
I SOTACK
7 . P3
| | -
T : i
’ |
INTACK a asm. 7772 Mg
adla iy SEGA SEGA ENTERPRISES,LTD. [ ;;,:,_
Rl 24 -
— o - =) bt -1
L R T e T e 1
L - /-32 ACwe  P2.P4-PE.PY-PIO —
L.-_.«—\ g T ST * T Naw cler, B/mdle REV
< — 3 P e — — pp— p— HR® P 2:R0 PY-ro-pe-pi3 GA"’TE =75 AFT—Q BoR
! 0, ,’ RRO P4 PL-p2 c E‘( 83¢-4325
—_ - . cep | F3203%y 21 P20 . o e I DESCRISTION | wa
732" \ Fadyein E4E PO M. n € = 7 O | wear [ oe o3|




«RD i )

e

R ™

- : OTAR R p‘}
2 Sars : ; — jusoie
; =L ifk138 bi7 A2 2 - 2ro
T bi TTieR 4 waB 2l i | 9
AN 1 SHCT A 58
P s z: 15038 Pl
( e bt mccq N ﬁ‘% l: L ==y PO :
4 | red hs RARE —u 2 _—
P { - 2 | —————— {
4 6 i . RAMD W f——‘:‘— ,“‘ — :
Y 3] 7_3|; Y QOM /—J—'—?{ oo 7139 1 [ S hes—— !
e ~oxqol e AT - s a1y T 2
HAS Al %1% P—’—"' /_'a'—"’“ 18 Pt :
&, e t :! ‘52‘” S0l 1 i /7 ”‘3—- Yix /"/? Z/n i S13
; R oL [ == 11 P_i_*__s.<_.1 b PRI 26.p4
k l 1 20 o ) ! K > JG p E' °e
. L ; 1 ; . —d
“a 7 ,Mag L] l I \ ‘ J ce4
T f B PR ! | — T . 2aM 1 ! P13
HA_ (1 ! 5 Tine lg1AB 14T | - a o . P~ ! } Lo a T ] ¢
! 2 :{ : ~ ! : ! ¢ -
‘: - - 12, > . ; MNP, Lo j.l HIze Y L-L_ 3ol | { i S 4 D] ze : %
[l 3 z P r’, T T PSS AET R | : i = e i = oz i b )
e ' 22t ' Lats ! P * | o 3 { v 1
5 P L 1c it R | s ' ! wag(2 a {_ ~agi3 o —_— iz H e A 3
- g: ~Cl2o [y ) X R :‘ s ! ; ! 2z :T 3 "'.h.z s r : s ‘
: - 3 ‘ j—— i ! i ‘
3 Py z___ B I R | . ! . TR g Lo f EN L 2 :
2 , i i - r i 1 i { . : < \ <y . ) ! 3 - : !
N Q s : - ' \ | i | i 2 o _KXS_ ——-:’ L3 ey oM % ; i — & : |
' /34 4 il ! 2l - =2 Vo by | BINL Y SRAM e ol . i i s.m 3 a o i
0 i Is] s i3 ! EEY I H . i 1 LN R ; 2_ it o4 v i > 4 /3 5 :
- ! . 4 : r ! . T wgrasis-cLl Lot Y i ;
1 : I 3 3 ! 3 : p : LTS .20+ A : i : * 211 /2 [2
- ' - - . T MASK | MASK ! —— ™ MAX T 3w TessiaaeL-sot ‘ : — [ 2 .
» : [T i S50 -
3 " > e s U : r ;2 R'UL 34 7° 5 72 x4 247" | ¢ er | e. 2 !
- . 4 - X 24 7. r—s——-‘ 2 - ey p——— . | B ¥y !
7 ; P . i . 23 ; =9 /R ‘/_;"J : [20Cmai) (L a v, 200 wmak } | B T om :
= . R . ; el | T 2 P6PYPIS pr3
5 | 3| zciy iz . ; (_3_3_1 2 LI il ; . Fra5x2 ;
P i 9 P 3 ! . , 2y Dcss L zcso i i _— !
3 ' ™ : i NP3y 2 -~ -
: ] - - 2 Tcs3 i zcéz2 - r——"“ ? 3 g r T VTSNS LR )C§ ’
2 ! K z / ; - ST s TToe o L i 2 2 i
! | - 3 1 A : o ; _\‘; = “u& —-——‘%_ :;'!WE ; o i ! /e ¢ i
, ‘ Lo 2 —4gE - ResE i f L v i !
-_ B - as 2- - ; f i 2 srbA 3¢ |e 2 ,
i T ! o] o] A TN Gl Al e Ay l r 7 =
. L,,,,,,s‘q $r:3e 561 ]|‘ | 1”’7}“ ! - ‘ .
| ] 1) ) A 2ef 2t RIS K ‘:’ 5| 20 llr g _{ ,.,g “ “‘ o~ o~ ,,‘q.l,,,. .__‘ |- ’ ,;l:
n,”/qu-:t'rrmu/;JO]:(?l | "| § '%i' i - ,
! ™ ’ oo ? . i
ND & ! i : ) S o)), i
] i | i
2 | =30 i
1 | 4 H ’
- N “AS/oc2 P
3 1 i 1 . i
< ’ . o i it H ; ! ] =2¢c « 2
- — N ' _— .
1 x} S ? w T !‘ \1{\ "\i\' 1o | L HABis Terz 2ozacs ¢
i t ; . : ! ' HE i L iv - 7 !
1 12s2! 7 Ilo u s hejrs lnui 1 s | frs | I ' ‘ T~ ﬁ:‘ - H‘ ddvamw —r ~— — : /& £ i
; ; . -H I ] L N L T ! 2] e ) o] 2at 21} ;; vty l 2 i ! i i i N’ o i__‘5 ;’ : L—-——-“ t’
3 2 : f f [ = - 2 LZ_..__—_
g 3%/ 2 3 % 36 7 9;/1309¢73 ! j':;i I 3 ll il'z"” : = B » l
G lll; a2 ] i b dstiaimmpn i u,l}lfs' v;, by o3 ? E NS S e A L
N i : :
7 : I R E PRI EES = 19 . 11 , i
: ' \ Ao, »l oS ' 3 /5 i88Y T\ — p {;Z : !
—d 12 N }owaaga s R A [ SIS AUV
w1 el (At 2 i —an Vas ‘ 7 ereewr vy 6 pPrasm
B | B ST —2 3 . ;
. —2 IMEP M TP i o ; e 2 1 ¢ b o
: i B T e e aa semr] 33 L4EL Y ] N ——
n i = 9 ; = S-Ran = b AT TS e ¢ Nizeritlm 5
~ : ; BT MASIK MASK \ Q > : PN nB2aéca-rocd TT' 3 3 PO [ «
‘ B iy = | S, S R : - = -
s ' 7. ! 23 R AR ! 7 7128 max 2 7 TeRReare 3 i I 3 7 2
= ;6—7 ¢ A . 8 mrager 777 7T 5] I S
= s g - :
Y oie \-—s- S . e o] ©  RILAAe . 3 eorp)| 2 cB ¥ C» A 15 8 | E B——
s = oy e s
) N ¥4 3 h Iz 3 7o
Sol ,  zCSR zcs7 iy p—2i—i 2 T
\ T i PO e g6 SN I Teos S - oa sag 77 Wht o2
. —— f
" ¢ ! & z L e 2 Vee - - TTTOT 29
GEE) Nl RS = IR e R e r masmy 6
S R 5 S L veE e PRESET | 13 pups 19,011, P02
HUWR Ve Tw WA Ak OF ve T R A6 OE ; c= = re ze170 Zsea —_— R
HENEEEY T 3 ! 2" B a7 26l « 2 CRESET !
ML WR ‘ 1 o‘, !. A | T i L= i 15'”91"" "
l 2 -
r § 'E /
2! &
f ] \ A est b S
7 ’ "z.uu ez
N ] snI o |52 22zt e 991, R30COK
~ 7 8 311 MiSTCl i F101T AN
a oA & ay e A4 € W R3] !
AR SRR ”
| ocaxs
BN gw, wenl IgeRT
-— " wn_ 3Ng .
L J ‘ ' SEG/A SEGA ENTERPRISES,LTD. |5 7% ey
\ - P, : TS ORAWING Wii iN NO WaY 82 COPHO. F3]FTOAE | KD T
e c T M : TO o4 RETUANED ON DEMANO. TuUBES oaw. ga,{‘f_
: GEME BD AFTER e
— N~V
DESCRIPTION raxt | w0
R ; - ': R sy 2 o 3




P SINTAK =139
) | o3
@
SAIR [T 1« TER o LEa N PR
— el > S3IS 2y 2
AS = Saie 3 3
P12 <
a:‘ :;A S
ICH? <SO4 I
~2 sl—
—2 ¥
F244 <2 ; - ".
i
5A 4 l ! ! I ’ Ysy
- sAl 3A 1 —_— %5
o ey T i g ] : sl Lo al l;. I - % CsvTack e
T OSAIN U Al ag " ; 4 Y ¢E & ! : ! . _——
SALé z (.,;a 231k * } ‘2 1
SAlS ‘1 :"/{ 'S i Al N } ..
SAl 5 e 4 i . f . = —_
sAh 2} iz '3 ! E <= -
v 20 [y | E— | 1«3 Thx7 =
P1 ¢ SAn S A Ve jmz 2 TRAM TN |
Tl Sam I o 5R4 > 7
Losa3 A1 TG j - , _— |
P /2! - T ~00aS hoxs AAX 110 &g T T -
| -A® 2 yzd ™ > :\{ ——— D ¢
SAan < /5 7 SLIM =300 ML StiM=300mMiL ' o £ é
SA¢ sl | zenlla [ EER i
SAs o /2 S . [ T—l\‘ | |
SA4 o ? L MASYK LA !
S AS 3 vd 3 34 > ;
| SAx 5 & 2 N 23 i i c4g
s 2 3 ] re3e zc3s rea2 =l E ; ¢sat
spr @ i R '
3 —~ i
6 D¢1214-s.'7 /2345 (1 o8/ 23 4541 ’
EEOERE 1 IS) b iT]a1 0] wpiay a3y st el @) A i
—ze5
A= Sba¢/4¢,r£1s8u1134:&1 J13$sc7}zsu{/zaf:£1
Y N 5984 . . eI ps.plf
{ 3 -1 2| :
: ! 71 32 A ‘1' Z3[~E3% 5
1 ) | s 3 be 3 1, —
; hd i iy /£ _4 ; 1 J =3l €2
3 T <] -1 ls6 ;1 Y . / o I USRIy
i 3 t 3 b A H \
} | i ! DB~
i 7 i 2 4723 2 ' : ‘ ! - SD8E~IS PS - Pl
i SR \ \“] \ \l \I A\ |
Pl ‘I F2e8 soltiﬂw [[RUNTY .c u!n. {ein | nmi.c‘mmr vofu|tals u !
2N 173981 sl ol ol » ln!,s i 1!40 ,3 af i) af ] sl
il 73 NJ 2 3 4 5¢ 7 2 e 5 lal !l & 3 + 8 ‘ '7
| " <
; '; \ /3 A a2 L 3313
2 31
ciiA Bllae u 21 1 h
2!l oyl 12 u {24 e W
31" 71 o 35 3
L > 5 KXY IKx7? TR ’L; . N
—d7 SRAM IRAM PRy, s —
2 5 s A — A8z}
1 = I EP J201s MAX Loas MAX m < 7',;_1? A3 33 r-:zlr
SLIM= 300N SLIMw= 200 ML Y, N 2 ALt
>y 329 J 20048 H N r—f\‘fgf‘san. )
22
a1 ™ “D'; A1131 ‘
Pl SUw v 1M - 5'_.4?!5& O
Stw Y HMASK t AS1 8 = —_
Pl 23 R NCPLI RS N :/a; ::'ﬁl — ]
* 1] U
ez ;'_;,‘ Te2z zcz3 22 %D J ‘ = TS )
P | ve {ABi3upNe
. T — Al Bl
- A“FE [s- 343 CE CE id ———‘5‘35 -~
n %) | LAIsI 3t
z 2

24|

;L__.

jo

@9

cEy

Su 512

et I"'
»

%) CPU (53s8a) i'5 o'ty M ¢d=x

RIAE nia 128)
T7o3>8"0 20pn 7TD7 5GL-7-4

SEBEA sEGA ENTERPRISES,LTD.

s omswiwa wni (¥ MO wAY w coewn. NIHFOAR

TO SR RETUANED OM ANSES
QESCRIPTION

<ub P Rem d Ramm




A P ——
“4BB B~ IS ‘ P ——
P2 2 W - 3 Al ) e ——
, s . ——
S ‘2 L) ——.
2y [Las8is \xoess il oy, Fu S8
S0 it Nl 30 30 [’
PN, L] R 9 ["? :‘ j
& 2 A 2T 12 . 1 iz
i: O] N 4 e T
AL, N 18l FygaiL LA
Pl N g O
3 S il g A
o A NS 2 za e S
w7 A N3 3 — .
~ i . FEEEEY, N > 2, 2 '—-——/’ : N
o . - 355248 PTY N &.____.: f" 2t 3/5-52¢7 2 f] 5_
NN A LA P 3 =
et 3 \ LS RN it 3 /1
CBpn FLAT 4 -‘_.;‘_/ ;“ i 120pn FLAT g {8 A
25 /] i 1 3+ /l
- ‘1 s P4 k ___..’ hnd i ‘ hi 2 !
I3 i’ g p-———/i
e DS N1 B8 1S i 1S 2g (3 M3
5 o N 14 ay “” ” 1z T
’ ' n | 3 N 13 -‘,! I Rii '3
MTErY, N T
,"_, 1A A ! ?ﬂ | ”_7 ::a A
ro B0 e 1% 50 e
P 10 N A
1 A g ?
3 ! ! I [, N ] f’ “ﬁ £
= : {,‘3 7 LI R I —
51l T4 \ | Ty ,
> 4 i‘—;/ i . DB 5
I s : 5 R _—J,
\ 4 3 s "_/ Nt 3 ,‘: 3 1 b
— & 2 R 129 S
3 &l 3 3 2 3 T3 3 G FR
— P T N—2i PR
N ; lze 1 | \ [T , Lis i
4§ ! 38 2 / s N : 1
~—t By # 2 g ——
Ny - ICi07 TCro@
> - i 1881} 5y paie LI 0B
53 S1hcs - ﬁz (228 [ENTE L] 14
s n voe 13 4 N\ 13 . ]Ed 1
- ! qu vwe | Ves -'—l”. . 3 .D 19 L Ty
. ™ 3 '/,9;-3_; TR 1 . 4 ‘Fgé
) ’ 5l AT! Voo L22 o= u " L
— ;.—e_q‘i Y - — # if _ i
2y MRE ; ,4}:3, V“-;—] T o 1 2 e AT e
| | —2a aps 6l pom > { DR el S
L ver g ki 1
g ) edl] [
' 3 ap) pillpoy \ 3 m ]
B ”!A«;u Vs 152 ) { ¢ 3
: i a5 s 2 o '
s Py :
”ﬁ . - Szl g = 2 3
P2 el f = A ZT&T ! a2 ;'—Wﬂ 2 4
pr A ! ! iy el i ! - g”? f i
kil ,. , %3
- L 22C ?:;D'k . P A
oy MBS g ¢ X1 cnst A
3]
res? 24 cusT 4
Icse 2 A
N zs0a 24 st y
P MR® 4c e hid 174 FHoE s
% s T4 FLoc e ts
; 12 2 Gl
__ e I —— Doe uETa)
23 -1ADY
SRD frey
! =
22 483 e ! 2l iy
; e smid
P2 AL I °_;1'L, P Ay
P L
e | LsT4 cLk
AV S Yo
Lsae” Y e T8
D e A0LD
3 -
>LL”; 1l
Ta
i - APR. P13 I
| SETA seca enTErPRisES,LTD. e Eaveid
THIS DRAWING WiLL (% MO WAY 8§ COPwn. NN +oAR e ] o
TO S AETUANED ON DEMAND. ANBED onw. a%-ﬁ"
s I; 3l - REV
Iy,
pa DRESET ! C,;/;:L/E ED ABF; L’:TCLE/VE-(,
21 AL

OESCRIPTION




SHOL, 5+

3 spap~Is A :
\ 143
s ;
t
ra 2585 oy RS20
30 %/ ;;__%./{
1 o ]
::?’ T :x 7% 1
1 ', ]
w2 \ 2 ¢ 1
B " ./ _ 5 )S"'l
o o Y e N—i e T
3 A Al 1__—/‘ !
R - 3 o5 A s T f‘: ﬁ 39 . 1‘
- -~ — T Py - - ~
J(S-bl‘g 20— LI ¥ I, 2l 2 £ A
e N L
20 5em '|1i—‘-—/ ™ :; Pufalit P |.{, - ; t
~ . ! T3 S B
25 hrt e 1o N— g a 15 22t
’ 4 %
- i B . !
Zis 1—59.1|f N =928:§ _;: s g [ <2858 A4
1¢ ’4 RN I L
P ERTE NN d,___/" l 1
NErY Nt e
o "",a il A \ TR ”‘? 1n_
Toz27 o 219 A \ e i iI’ I,‘? ®
PP Y LT - o1
P i) [V \. r sl ; s ; > A
7 T A 7 51 5 (I
‘7 [, N— i Ca—
o L& s A \ T 35 ; ; 3 s A
3 4 \ & 4 ; Z /
4 -—-—/1 3 7T = “+ 4 1> 3 A
o Iy’ N T
e — 2 2 =
L —= R
P . N2 20 » # Ll 2
a| SUwR
5 Mes i b e’
py Sl oo L2 A pols c_gv SQ‘:Z
= Yoo |22 L * ’: 13
Voo {52 | g g 2
Voo |72 : B A
" s L Ryt
s3® iy
Bl Yes {25
- ses (29,
- e,
Vae 157
/e |55,
' ~ I 22
p3 521 | BRI Yes {20 )
582 i ,A.\'ﬁ c'z b
P3 v B TP I
iy T ol 1 !
R 32 1
p3 2 s
.3
IZs50
Lsiss 7
zzss| A
g T
] $¥5 e i:;
2w 2 P
= 5 bt
py 383 : !
.o
. ~ >
P3 B4 " -
229 g4 hTCe8 ey
~sak, <l el L
e
2_0 Q_S‘
2L, zlg
L
=
IS
Pl _zn - -
ESRT
2=t

I

|

SEDA SEGA ENTERPRISES,LTD. |

. NeS ORAWWG WRL N %O wav o CoPwm. T ONE
TO SE RETUMED O® ORmMAND. TANRT

GAME SD AFT=R ELRNER

QESCRIPTION




JO b 33 5 1

L'
™~
P e

va s i B
vos 2L

403 =34

—— A
— A
—_ A
3 E 1212} e py oz 2 M ,1
)‘__2——/‘ YU <
O S—
—

Le% » 210 P —————
A €76 ; . —— :
: N ——— |
—a? . R S ——— .
& . e !
py 2 3ACH 2l 2.2 N ¥ 4 §;A.22zx5 j——
T\ 4 ‘!? ke ; X 245 16,17 Y — i
L =M " -t B < ‘ \ . i
Pl ] : - ,‘__/n‘_ M‘/(< ety M Y A AN AN A e T VN Y w3 A ] ! P !
i—,,, JpmaeREEEs S NSRS RSN 3 Ly —
<ty o e EY o 2f o = B - ~~ 4 -
- 1 Ty el g { 3w 2 l | '1 I/ J ‘
il wm573 0
T
3 [ KL 5.
e % A
FENEL = = ey
25 : 5 . o AR
P‘ T [y —— — - D oas !l - !
i . T D evt 3 21
- ! . L= =y
SXINT — =
q f
|
a3
ETS i
B i H
P2 ——— o
by L]
=) ) Ban. & 2% rory . ;
AW st 22 ; . ’
G
. 3’,’ -T u2 ? - A2 ’Jhl‘n
' 4‘1 29 Z’ 2 "’ﬂin
—_—tl) zel o LA nl— T — .l | N
- li (32 —3 R wl\D]— %Aw
Towe <1 " N ) ~ 7% 2 N o)
21 =35 % a3
. ) 3 2 4T 91
,, Fm :!}A }r{ ‘—%“ M321CTPA | MB uczg;\ s [ NETAREI)
| y =35us =35 T ey N2 g
_ r—: aupdd NI I P < | O =N -~ N
F 1. Lt ”r s ST 24 ZZA 9
A4 AN Al £ . B 341, - ! D] - = W PIN)
“ A fkxid At Jkxg a5
MAC ] ;nW r > All 111N Are Az 701
- ! S
fad : i3 /37
. L P S . ST B 1 P Ae (SRR ¥
{ . i t=15 T TN e : ! Y
: d 2 | TR ,j «\: 2as a1 _41 — A . _ a8 72w
; 2 .8 a3 Slia L AT N 1 N\ -CEY| oy : Tan LM FREED
! - Py —>—i /4 PR s, 2uo i 4g Zaa mi ’ 4 W 7 Tt f
Ii : s, ¢ 1e 4 e TN as 25 e B DL 1 f:; :“....,:'..._'/ TATA
(S-S ¢ 34 S/ rest s
PZ 4 < -l <2 44§ e -z .2z s ¢ 25 Dy - ':/—‘—’ = g
' A ' A A3 2 - Lo . - iy ey 1 2% ooy 704
i ‘ b on —— — -
i sa 35 i 33 /53 93
: Ny i - =32 =
. cas i - ry =
1y s A e 2 £ @ diPu f incH ‘LP?
3 3 ; { f
> — I : ~ ) ! YT
33 i : ' N ~
- - i !
4N
- : RTITS H
i oy oA i
P |-t 4
101 !
. - : -
2: Ic a7 4015 i’ [ J
e Vo1l ——t |
3 Rl
N . ‘2 A i
iz ~NC 78 ™2, %0 Q10— !
: - 09 EE—t )
Sk vos = |
; .
L |
) !
i
i
‘ 1
: '

voi L ’ r ] N
i fa CONT vos L ¥ ‘ g g - ~
i 2! ymrs : : e . ”
3225 AN 30 _DAON : 4 2] :
PRESET VRt 4 , acH aT iR | L hd N
P2 it WAIT s ? !
Y as = @ N
P13 »iinT TRY—X.-ﬁjg’ 2723335333 3=z8 2rmcsesna~a |77 g
LS x = oo = - &= =~ 2= i
Fit 178 ii‘i’ii’ifxx 223285 T33223z2zz2z=2 i L :
"""""""""""""" : ? SEREEE :’ EERERREE FEEEEEEEEE] ;] Y emas - i
- = ~i ~i it Mt N H P [ ~! |
737 - ; ‘ . iy by | 2A22%x3
a2t . : 3 5 {-a £ 2 pip sw aZ:3 Woipsw Q] . ; ! Pogl = :E A‘gz:' #‘1‘1°}~:1~l:i~f~. \‘:w . |
Gy 41 A : — K] =t iy on e S I : : s
Goe~im Ty aer LSy e g SEBEERERE L AL L
LN 7 __apg d(—ﬂz’ iz . T O—'—Oi NN NS \ v NN EEEEEEEEEY I3
N—t2 | a-o 221 . O—0| + 3
ARTFTR by ¥ PP i lo——oi : 3
c acdio | ; A ! i : I e } . _ e ] )
N Do «:“HE_‘ apre ' ! | e RERR0EERR. F3N3 SLRUMPSWaklLRAILE,T
X r—'L_\{ ' | Qw01 . B 4
N ADDH _Q‘Hroh__ _ . i —t1 08~ A B AT AL AT 42T Ty ADSAYARL-BI L LT s e
! " aLbn : i :
: ; | o?g_ - ; [o——0! . 33 ez | 4po kTS, SETA sEcA ENTERPRISES,LTD. [
: l S H nn,‘-o-m L o wav 2 coswn. NAFONE | XD
: : / : , 7z, MY P Sw woaxR TARLEL OK ETURSRD AN ANNET [onw.
: L ‘ ALDE~ il REV
e e e e e e . (8Lh8~Js) ,
yoh : : GRME BD AFTER BURNER
DESCRIPTION PART ~Q.
; , ey 3
mMa 'f“.’r—»n l’;‘l,/\rv”()-n Ct T b o 2




23__ (] e ”
S Am ~t—7—
" 4
“.:.l A . 2 <4 0 4 Al
n__fan b r oz ‘o o e [ .
~ o o woow oy v
] an + g ¢ v = ¥ ) N
10 [ L 4 N
P LU a £ = w--n
. “:) A1 2 I [
1AL Sl rrav
-9 « v
SILIITTL Dhugy
— - - - . . B R V
Aol ]t REIRT
m o ] *
~ AY -
LU P
L]
B |an a J4 2 o “
PR P rr w7 D
n_fy, 2 S$.,3 moox
T " -y S w2 e Ivs
— < At 1 : %)
I =
e L]
b | as
ST > SV -
IR S-S 31
. N\
a | .
LU Y ~|-- m N
N an « ™ - olfx..
ot ") J (03 ~N . 77 .
™M _— - n ~ [or 3 (RS
o r I o [ "__ 7
g 2.3 @5 =
b mNa ¥ Y] (2] B SN
b r - -
RN
| ngl — -
SReeT sy pppRTIe
4 ool
- Ay - N - - m——————
|
[ e | N
n
LU PV @ 1=
\‘“va Al n R "0. ~ _‘.‘, Al =577~
C <
St i 2 = o m u Lol R/ A
AU A g r T n % " & f—-17
e - o _© AT |
A=A Are n# u L) ,N .\. o [ e Tt
' —
- {AS o o~ 4 Sl \
a SISl pepeT YF
”hh. h f ..h_' H. m MJ.
. L R
Hn B
1y
2 am ) ~l—
TH:..; Ay . & nfd N
e o 43 © t 3
o Sy ¥ TP s = 1M . Y P
A = L r X .,“ d
~— 1A Y 3 3 , Y AN
oA A m [ I H.ﬂ.n. N wl— -1~
L‘. b : = wli—rr
s L o tdmo o w b S|TETRN
Sy :_.zL
4 . SRR
b AN NN C e,
# N e
1
Y B T
L ULV Ay . - .l““zi/
" 4
\Ml N e “u ~ m/a L R TR
= gy 4 2 SR S P R
AN f) . -
o7 A R B B
~E—f A R 2. 53 m.. ) " T
Hmal Ay 4 ~ R R AN
—A—n = —rae -
.M 2 ..m .-A M ﬁ M M : __: _..m. Lt
ol def ] g~
: ﬁa K
' N flll'l’.l\‘ll,
ol
NSy " LN
e Ay " ~ -
"
A FTL RS} -O. - FooN
R YR 2 g B ! I A
- ¥ s a ™ "y ¢
PRLIENE N YN r x RS af ge——
LAt an @ S 2 N o
L £ ms Py L
\Ihot A? - [ | —
| e ace e T
TR AT IR
© [ I N 3 e oo w
“ o] 2
A AN B B S
~
Ol g,
AT oy [ AP,
i ,.M o - o m ——
\:C.....) nz ™ - . Ul -0 . /..fmil)
0 N, o r £ Wom v "
\q«.PINM\ LUER™ w o HANE v . &
\.M‘_A\_sm 5wl Ty vl
P S 7 B U o=
) R g RN
-y . - 5|
i STEDTILE I
af vl T .- ~l2]G P, H w.
M R ] "
< ' I I

3¢ LRl

Ad3s

X 1
I35 "
n/. 45 é ~
e . PR AN
I PN
L) N S =
J N - -b——
(2]
L S ~N |
e T S AAREI
P Q ) m R o HEIHLE 4
, M 3 J I N ) -
\\~. AN -4 x r ".L ot .C_ L e A » O oo .
A0 At 4 b4 s N o vi-—tyge a “- { L
g T s«d > N ey I b |Es
P Y " iﬂﬁ?r wlba| 2
siet23c% Iolelg 3 i 1 IR ol X
T % S - e ~ 4]
.. x|d {
T £l |3
M; U of ® e
i Wl vl o o
[R U WA W U U W m - md _m -
AN - z | ~ k¢
4y REL ar o
—— . < mn Hbm ” e
g|-" gf~r
. w8 a
—pan o - < " mm ww
o .
RSt L M. AR n J 4 v ~N ~ ~ ] . s m w ﬁ
| an ~ el r "a S h/_ ) AU m;.. m Am _VP,_ -
A A + o 8 I S - pa % w3 "
N @ 2 5 J ol > 1.2 0| fo Q/ o
JE 2 x toE M £. ., W AL I S
¥ A AR .-ﬂ B AN * 1) ™ N
LR L | o &g
——— 1111 .v_l I Ty ey k*l (o re ﬂm I
i SR N
IEEEER ﬁ ol 4 e im Q
b vl ¢ .~ Lol ™ s
NAOGNCN NN L sLO D n
2 b f=~ -
. — .8
G)
D S— . S a
atzhi. Ay l.I~% N v ﬂ( ]
\I: A o m - LI - a a
e oq ) ) ) N -
I it o2 2 08 5 & 70 £
T T & n > d U &
Vv & g _© woom M 7 - %
- w% Alp E N g vl—p- a ®
e . 1) ! N e\ N Vo
St L S wam A .m "
o i
L Sawena o IR|EYT ot w o
w
PoL e
el otz Y
bt N et T v "~
N oW
m 4
e o e e e e oy ®og &
od w~ KN
N -
Iy LN aom b
balL I I 11 ~ © ~—— -~ %un ) N
~tap S0, 4 w o o« Nl N 3 w7
42 an ~ = = in o & [ A N o o
- O - B ) m MM, u oA
A~ —an ® ° e W w M A a7 N C (LI
10— mo T S w> v w—q— Q a ¢
Iy a3 oY 7 o T ad s
A1 o=~ to T 3~
P .Y ) & - (de) .
_ Y iz LAY PN
P SIT9LTITX Inel S o= oNn
L] 0y
~{ TN
VN N DY
o L Y| RO
LD s "
=T 1T ~ © - Ill«al.lL ;.,mu e
~fan ” o 3 Mm. ~ o At~
P . P ¥ OE OE N OL o v ®
1| + x i > o | .
|\ An A ° ° r»‘w o "y |—7 3
] e a . 2 w8 r v wb——7- -\
1 ag S xI + g .@ L
. S ¥ , ; :
r 4 R A _S_E_ﬂwl LN
TLeL e L IO 1® © ®
.n o of o] o o] - o M %
L A3, | | ~o—o 3 O~
2 I BN . b
—o=—=0 F Q-
&=y
auh,
i - ~— + — R |® o~
ST g 2 2 18 408 e
s AR bt ™ x o 0 TN z S
/- e M == 1(3 5 o
PR P T o S oz ow PY RN GrE=——— b))
\.!\vsl An ;3 SN m (%) Bhedd ey N "
e (L v F sl | —|O=—=® o~
—~ A TR e 1S L
[ IR “ 131813
- l..A!A tﬂl‘. |-A. <, — Al. @ ”V
wFT—] <™
J N LAY .yn_ o] i — AWV — A@ \th —
— @ - -|® ®f—
- oy
e e Y ~ ~f—_— Y = .
2 . T 1 0 TN & ® \.\/ ®
A~ An % E = wm N e P N e e T Y
2 S ¥ TP A r x ur ) ‘o - ¢
<+ ° o o hnd U {
s LU ) °©, 8 & 1 Nt -
——1p0 ” “ b 2l m v | —
lm' 1Y v ol—p- N 1o~
~E— g > o~ -
TIsieezd mwpgt -
. * -y 9y w“
o . ay oy
NL N
-
Sle——p— -~
My 7
\s..w(u Ay u. r J L] N AR
. gj A oo = = w Ny Ala—3 -~
\L.Pm An -~ 3 x now M wh—7-
TR o 2.3 B & N -
\IR.»IH A o. a ™o 3l ]W‘/ ~
3 < - Nt S ied
T ro elr—y= N |14
. s e s Sz H
M FEITEIIIT o [ b
S|yl @]l Alel| O w,‘ . ,H N Im
‘ B B S . v nl v _2-
¢ b [ ]
R U i
+ Lo — )]
) ' _ ot
L 41 .}
3 L
b
n




FI13
~ =~ 2
] AL < ) i2hay Ay AD Ay Fi44
{ [ i . )
! 4 ] 3 .: ! =2 ! a4 ! a4l ! 8s 3 2[\ eGPy
E 3 N 3 ;; 2 | 2 ( 2 | T |1 af “ /4 ' A
! 3 3 -3 3 s s /% :
[ . + T 2 Z 2 2
1 s : =+ ™ 3 M 3l t o 31 am 3 : /j i/
g h b 2 2 £
‘ 4 4 + L
! ¢ ~ 5, = e &P s EP l e EP e P
: 7 b 2 g 3 5 2 q 5 T NE 3 :
X : 7 ; i
: e =2 uasx 6l 3 Mask el g Mask  Slz mask Nv 2r 1
: Nt i q ' .1 3 1 q oA 7 q 7
— B - WR | H R o A o A A
L .e . . [} !
: 5 " “ 1] i " m’»)——-c
; “g‘d S a 200a3 2 200as 1 Z30ms 2 1003 ,m.f__.:
: » 2 \ E) :, 3 hal- 1o} t3 e/ 13 <, 33 8 cc 22 !
. < K - == i bt 4 == g == ¥ ==
. { 5 b) 31 : - - i
N - B , o~ ‘N apLe < . - - — = laa
2 e D %o i
; n ; Iz 2 L o8| | oy ; PR 2518 21, {n o
R - 2 . 3
: 3 Ten [&a 3 L i [ e e = i 1
| | 3 3 3 3 /5 K3 3
" Y 6 .+ . P 2 > 2 5 21 A
; z IR 3 ta - 20! ez i
L < + ? SR A
s 7! /213 A < 3 3 3} < 3 5 EL 5 A T| s 2
3 N - 4 - L -
—2 % > — o =] ® - b : & e 30 7z 3
| = 7 — 1 o 7 2T ‘o R SRR o
; ~ — 3 3 3 12 2 : :
F6< mr ] Hi oy b 3 7 3 q 2 1 4 71,55\ L SA
o z )
& : .;: © ° © o poAa zce /‘lw
Wik k ==y 1 i 1 o —e
o - ;: 2 2 2 @ u”_'_;
- -_— i
,, L 3 ) E ]
>—,;—/ ‘: ; & IC & e 4 I8 & 1297
: 2 chp  — = 2 :
‘ —t ; it AD AB
! : . [*4F% I
= | - = (L e
1 N -
| A ) 3 i 1 i H
, k 4 21 : = i 2 i 2 43_ 2 ;:
- i IK 3 —- aal ? 3 ; 3 = 3 ';' 3 Tt
i _ i . 1 1 4
. t 2z s i i Tl
P2 B ! i = 7 s i R R
o A t [ P/ el 4 sl 51 o 6#_’
[T, i 1 il g ) 7 a 7 1 1
T — BTRSA o > o .
,__"'_’_/ :: "'; N i u " 7»?!7—7
— ~ 2 2 2 2 Ve
—_— N g 3 3 i3 R p—
3t g %) ;4 Ic 98 " 99 2 IC o : Ics0f
—’ = !
ABLCH | = 5 15 5 S
N i d ag’ e e
. f 1 \ i3
’ T EL >l 78l e
X 1 - pto- i = {
= 5 2 3 3 2| 3 2
— < ¢ o+ 3| * 3k
— S ol 5 g5 a5 PRy
= ¢ s ¢ s & 5| 2 sHL "
= 7 a1 T o7 EZ - o
= 3 F. 2 2 2/ 771! RN L T T
R .( L3 ‘7 0 o I P \sal LA ALAYASN
3 1 ? 9 =
U ~
; — 8 . 0 e} A 7293 /L O 1
- Yl 1 i 1] it vr,f;—T .
” 2 e s S
: 5 ; : e :
ad =2} g Ic/me2 it Icro3 4 I%/C% 4 IC/of =
5 = - ' b [ £
S | Twzae | "wzae |Swaes | -
YR EE! .u] 1 J i3 EYEEIY W2 2y N
{ i
- | Bl
. |
— : ! ! ’
i ' i
(2L bte 2182302 | : : |
17! 2] B"). c:t AET2r 4 :
t X - 17 -riz=p :
@l -5278 D f'-s’.?:os '
incH | T IS _ 733
Ao A
ICS4 &i‘f =L _ —
N ry -
PC BA0 Tk ?*7( . 1y === R [ apm
ar|fil s 8 2= SEGA SEGA ENTERPRISES,LTD. |
1 ” ' - _—
s26 ‘Sz‘, 2 “p ' TS ORAWNIG WL IN MO wiv ot COmwn. HATrONE X0
aa __108 u_.T . T0 B RETUANED ON DEMANG EEE T B oA
~ REV
3 ~
‘/\/ /6488 TS, emg
camns £ "2/ GAME BD AFTE ZLRNER
Rots J208C o ¥ 1 = '3, D A D §
OESCRIPTION PART »0.
NModima fonke TLEL e




N N R N
i Lo TR '
—t == — T s o7
43! 21 - i mi 54N 27 -’J’i
! i . '1 Voo sg Voo Ve Voo Jog Vi fes }
i ( ; ; i ; - ALSND I Y T =
i i I ! ! | { i Xiow sl wevw v am =2 2
}I, b W} 3 al ol al ! XLZE M oxcom €30 "o o,
i S A Aol A { 2B M oyecs ALwR == 1
LZ2aax e‘! R & 4 & - ) : >k M xziw xuwa ZuSE_
A 221 A =5 22A 280 ! : LI T o ADI6 IACID  py
; ! — et o= == T i x-oe 2% FeESHT
i . > 3 “ - - '~ IR s
Li=i3 we o ‘: e | AV > iy 4, wR € 3 | e va € zg ! } | T | 7 o "VZE S b
- ] e ———
.\-———-—‘ = L L2y p ! i ! ‘ \ ) STil(E
: ‘ [ ER TN seus P e /3e l R HEY — waracs 24
i3 ' ~ A 2 LS. . L) by
- k3 i 'S w —— <~ —_— - o -
N —71) /IH ,y‘ ? i 3o, Lo O o e.' . o — 3 2T . v :
o £ 5. M 55224 [ A S [ = ] [ e | o - NLNE RN
‘ »y == ¢ vEEr b4 TiEIee2e L 3 >y Ry S 2. mr gAY (NS 5 (oA “e
= > 2 ep- | - : —_—— A T L tae
— ° LA 2 i s 3LSPr-12 [ N og A s = i “R e -< i : - = XS wA on;.v z
- 5 8 - A K——-v = ~2 1 Ao —_—_— Wwd oI w2
) - : 7 i7 S - .L__:—d : by PR 25 o sia =iy
— P28 . 2233 ' Iz /32 — P uer i o
N B Eriow iRz . APD42832 1, AP944822 T s I 2 T oz o=,
' T ; - P CE LA e 2 ez — te-k 21
—_— A SN N & B X, -2 2 -2 | Q iy 29143 . 213 T : — '
o E) R > i i : -y —————— g i _law
| 7 \ ! i . - 5 N ;
r— e o A= - Nem— 2 wiesag
= L4 cat Pty ! 300 MIL 320 ML : I\ L 4 ; < M . "ReE = ==z 73
- h 2 e D : " rH PR TR § . — - £ RCce 5 vong | a Trcz < oong ! S UV 2 . \
—_ % 51 l a4 A GEL T S Ui 7|!2 3 2 : \ M N Y = e . 3 KT . e - e 2 - -
— ] Ple 3, §00 MIL  w goomMIL t [ 7, Eemd | g TR T P S 7 o R :
2 i : 1 - R S . E— - 3 2 M i
—=. LS —q——"li L 4 [ O N~ % Ia 5 : = S N
E : 31 ! ' o 19 | i B . 22 q z Doy
‘4 = J k_zo»q- i i ] 2 | Lo [ | A :A) o ~ - B §
— ’ e =b 9 /224 S 37 ap/ T tE SN %0 7 3 3 a T ¢? % /2 a5 - 13 2 s R -
g i 1102113 U5 /L./'7!/5|lq' 2 g S /rm- Hk)nhl;l-x Sy 4T *}\a-(”nnaququ i >a T 2 i
= 2 : ST
_ezsis lorgclF - 4 A \,,5,;‘,.,.”‘,\4 e ~i M,,l.‘,h' Sl ,,(_“”\ . Cejamr 2 ~ VTS ) o 27 arg cq= < o
. <5373 I . ! R ST S x| ¥y Ty T T T 1 X3 = b
J | AR AR I [ i R : [ S C I 11a [
i Lo T N A AR A IO SRS L A A A a.iH;;z;;;‘, . | g = e |
. | ] ‘ Dot § ;79 i L ze -] al - |
: l : \ 24 . oA 287 3 )
| = v , e ink ok
'
i ;—H-; 3 CSHAD O
1 3
: i e sl % - <er
] 33 . A i .l $ 71 - /C) lr -
: ~5 1 A8 - | h H - ~ RE¥Y LI
{ T Y C | 3 1] . o AT y
i s L [ . ‘ ~ P -
4 * = Do b \ LT Do =]
L : [ A R B
} — o Co2Atsiz Pl oasiz L Co20512 ; ST S
- [ | “_/_5, 3 I I [ . ! R =
: i 5 LS | 3 ! 23 |
H . N s /3 V[L =z 3 K L . ' e » |
A P2 ileg 2 a 2429 2 - - a2 : ! . ; TN
A a5t S 5 AL T i iig z N oo b ! o e ey
— i : o : : o : so R
\ L2 tlez i i s > LTI - - i = - bos ; PO T T
~ 222 £ B > < = 2= i
NI EE N > 3, Qo A =TI TH EEEE FAeet Sas s Thce £ iSeag | 5
i & ! » H .
8 a3 I'i= N T Lo : i
—== I el = e P j n
Nt L =i e— L s ! R -
T T 4 % s+ P zcis2 | % ress2 | o
S 7 LS B, I I L =
( . ! -
I g i e | it oz e s
3 {5 3= | [ ! CE o cne e
=2z, %o-::-o-— s i 5 I :,2: e
EITIEROS LN ‘ =3 3
u— : 156 i ;! oS58
i L2 :S./L l7‘ S*HI 14 /uun:-/u/?i/},‘ﬂ‘ 4./2}.3!/5‘5.5 e g R
: l ! R T
i T @ N mm\- rimlaimatl ATy
AR T T R R A | ‘ l L l ] ; I -
; : L NI ; L i
y i i i .
N } ' | ' TS AXINT
X . T
: ‘ i
H § i
I itz o | : ‘ P
H > ! - { - -
; ——t ! : !
! [V S i '
= = ; v == .,
; \ 24 { Vi 3 N sh A Ps
T e~ : . ; (J..z.-s___m,,, ; —
! R . s R g .
P - N l i " :‘. Wwa X 12 : Pl
e < | 2ysrH
;
X A = n T A 4T WX N om T a4 e A = N M
- 42 2B 3 B AT 23 TTTITT ITI NN AN
b z a
, FEEREEFEREE RS EE R E EEEEEE
i : R ' . I '
R.4 22¢x3 } F] _1 [ R Pt i ] J o~ wi ~ ell ~ "1 o
- | dazsazada az‘~.—mv~'\.\.N\.\.\,ﬁ.a.ﬁiﬂ
AeX I I A I A R v ‘ g | [ i
I 24 393034 ‘ - - S D
| NN AN N Y e 3 n oy aey MN RN NNy
; 3 3 3
i B z Rk
S < SN
H | H —

: arn. - WNi27/2X7
‘ : . 1 5[(3/& SEGA EHTERPR!SES LTD. [Toav % B 76 57
N—— éﬁ o

—

i THIS SRAWING Wil (N NO WAY ¥E COMED. nﬂrmﬂ cxo : 2]
/ 10 uE AETUANED O CEMANO. MUMBEE | onw == = 774

. ol e . - REV
MM 35256 X2 = H v 2§22 Tsreazii 7 3250 3k :.’T/:,',"’E 2, AFH? QOKNC/?

T SESCAIPTION rant  w
- —— st P s /3

.S‘Q, (_r;- & ‘p,.; ¢ ( !




CRAZK <3 Ix2 ==
2 PACINIS 2z 1, - . l - .
?1 ACw&  Myw & mRp “, 15294x2 11,[ X ,L—7'nr 3; e, :31',—;' :J
! —_— ¢ e =
| oNaac |7 EELY.4 fuzv" Jj g € O S e T s
[J ) -y iy ir 2ty ;
i . -
N 1 3y - py ad { Pt .
ey e 5 7 i i 2
b 3 | 3
| = 7 p
B — AT ' ,:“ PR XY . grxg
i N RS s g a Fl :
: = 7 § i
N 2 S smaM g 3w
=1 1 . ad 3 .
7 7
S e 3 ¥ ARLY ! i : AC=100¢
— T : : T Al=100as | T *
N I '3 2 2 : he 7 3 i
e L2 z L L I00MIL :
- N 2y 5_‘4 4 ¢ ] =21 /Iﬂ 300 HIL ’,‘/’ o !
e zi4 X
: a2 - 22 = ] i, o , . :
R DU 2 wE { A ‘ | z -8 E IL.se |
R L 6 THR_ | 7 3 _;ji = —_ :
TS 2 2 D . - P ’
22 . ' : b L ST 8ISl ciiin et giyoesriizice |
- - 9 L ! L PRS2 ) ) n mm/r At in
" - N 3 v ! Pt iyt P ; [
S : : SR . RERREE RERRE
21t o« < < " H H ' ' [
: N : 1 ! ‘f,d/s;lljl nrJ |5J:,[n Y
i = i 1 H
! i 4 1 . i Y / ;.
| : 2 N NPIIIT i
) N 3 a6 28 £S37%x2
P -i0g (N siay i, , 52
' ’ 7 't i X s §
: [ — |
i : 2 N i 2 Z': i [ 2 /{
i H 2 3 H
! : ; > 2 — (i
i 4 .:r———(/i 4 A 2 . 4 RIS, ATy SRy |
< i i £ ( \ 3 < < ! | e = A4
P 4 ‘ T 7 . T ' 1
1 H 2 u s = N 2 ) 5 21t i /S|
} ” 2t _‘,o 2 A N 2 7 2l 11 ol
2 T 3 s v U 3426 ) 3 2 s mD--a! b
L 2 3 ! z o < 3 <« ! | a
(5 7 /a | ! o ! Y
3 T Y] B T
5 | L2 31t 1 /
: i 2+ att y g TR
! /7!i s hg Twa :
: ; 2 RIS {
phd s ! i - h : '
;r a : : ! | i _
i " : LT - A ? l
?3 ’y : ' ' ) T ! H rg‘.,- ~
i : e | i -1
= ! ' - . ‘ - 2T 3
3 : T - i ? .tﬁ i'l‘
! " ! : ‘! >°; | ’ ok y
H 1 : . . p : ~ 7=~ — g
i , : | : ! : = !
L < i i1 L2329 ) " i TOP QE.VRI'_'.
R | i - 2 or { 5! 3[ [ e 32
— i ' B -a i 4 5 (=] " = 1.E1(
5z _EM . ; /“"_0;:\‘ 2 2 : AR 4 P—-—ﬁ-—? ] 7_ 7 4:3 5 3: f*?'— iE
bl | ) ] : g <
TR 3 grer) B | Fa— T S DRAWING WILL 13 NO WY BE COPIED,
! Lip10 P —— e
o 233 < fad ] 3010 1 7 1 5 2 1 L4 315 -5242 : LeTELE 5_5;%1\’&..} oN D_L"I&A.‘ND.
i ur. - 2 < - 2 4 231 ' .| - - ?
=2 3l a0l =T ! ‘/—:—’ zce7 ;3 : : ol :n‘ . n 1 ’1—#5 : 8*771_48_. 27__
X 4 - 4 LAD H /_‘J l : = 2 It - 3 t—q
— . 3 + o
p? | 3& 5t 1S nAD I (N U . i 21y t 7
T o1 C2T . X /__z_:’_t t 14 d ' T, b4 > = _
. > = P 3 A8 : 4 g Ics/49 i -
. ( : 2C3 2 13 ¥cap /_;—:{- 47 N 4 4 .5’ :/'.‘ F%’T
! 9 n cs i1 Hr i i’ /0 4t. f/t 3 A 4 3 W e ™ ;= ‘Y
| N 1 ol s 7 : | ” ' ‘. V7 A
? /s " Bl 2 PRty S R, A
{ | .,,,I — ek ” ; ,._; il 37T Lz - t
3 H . 1 < ry T
P 9-PIl 22 T am §e 3 : Ssg e =
{ LIS 1IN ! 2 s ] Hag o
! : - ZTFm .
g_/_)' s o, Ll < ! I cuave /s Zour K 27! LT — 3
LELT -
i ]
“9( A~ /5 : 3 e o
P2 —— =1 Cuspe oM " m
P2 CoLo R 2 T : f r____;_'u TR ‘:’\// 222 — T SYNC &
pq _“-J.wow ‘ | jf?g‘ RTE r
o S | . | 7]
P oWk /\-
TN 78rC 3% FLTE2
Pa 222 2 i

rm'

§pin J-S hy

I

i

|

== A L ape. ~ e Py
§E@A SEGA ENTERPRISES,LTD. v BNz
IS SRAWING witi N 4O wav 3¢ Como. FAFC1E | XD :
TO 8¢ AETURWED ON OEMANO. ANBTES | oww

— REV
L ~
GEHE EL KrieR ELRNER
DESCRIPTION anT -

T ated Tutout UL B et 0 w2




N
&

o

)
Y]

/T\

-

31281531 721 161401 451 501 £11 65167 172!

L5244%x2 4

L 4%

[

1

la
4y
R
“;5

—_—
Al '5',::&-«

2Kx8 SRAM

0@ Y hwh <o Y

T =L we

kxS SRIM

20

4

W’,

i L:R.\‘é
2 /81 AN
3 /2y N 23
P-R 74 iICi‘;‘ K ;
s 211 | N
R i i \
& 2.4 ] N
> = {\d Tl I N
q rd i LN
-] /50! | LS' | N
1 /3 1T LN
=1 2

o ‘ \ :‘

1245 /e 77

= al ™

\ 4 ‘l’,

b~~~} -} ——— -]t

b
< 11725
- E4 .
= ! t
b4 24
-V
s AR
a‘ ifﬁ
>
iQ }
£ ize
T - \
I3 =
at |
3 L
4 3il
21
15 "
| om R
Al I'
/218
Zn
' SR/
Togs
oS

BFEN

3/5-8527¢%

/00 stn FLAT

O aq b &N~

VoS VID Jos VOB NS VS -~ = — = == - Uss

~

D W N DG kW N

h

n

4

-
[ NGOG Aw =8

X
»

“—F?ze&w

nr
3 flAG
kY /
ak o
{39 2
2§ 314
151 i 515
Se -1 s
i 3% 3 »
e 1
82 wi g
31 2 e
T 13 /"
L3 2z
[ 7€ 4l 3
15 N o

R -3
wmys |14 STz s

dig s (7R3

= =

SEZ) SEZGA ENTEZRPRISES,LTD.

nes ORmawrwd wiL @ w0 wav o2 Cosen. A TA> TR
0,

TG BE AMTURIO OR DEa.

TNEER

t'"H . 24 5F
.13 »lwE
o2 ) 2 3 a

2 mamgierein
(£ RAnaf =
4 3¢

g <!

4 2,

1 2!
=

J $1

P~ N g e v PEN—
SRHZEED EFTER R

w - URNEX (2244355
JESCRIPTION 2an? o
P.’ ;!C/ 2 T o [) > /2
23 - i
Y |
T

9% ! N7

i I 1% 4 J £

34 | 72
ol ‘ JRbrAck P3

N.C !

22 | —RoAD PID
I-m ’ rCce 1
{4 | 7

i | 2

43 [ 3

42 | <« | PlO
{ 84 | &

3l | &

% | 7

ki ‘ _, A3
136 i Rek

| | ’
!




IMT-25 - ZRD- _—
. - wT-Z Pawe P ‘ —
[r———
N
; i NMe——5 P} _—
ay » ’,——.
| ’? —_— ! :4! zz! i N __—‘,.._..'_
‘ L1k i EYe) PP ‘o H R A a——— " T /t = —_—
| Az z% - 1 AP ) Ae w M Ve | o0 | =) N
—_— 2.3 L - f ; T | : ! 2 i G \5 ”r _11 Tz _ !
i < NPT e i . . i ; ey &y 23 - cLock | 350 ‘ T‘c‘z‘ : —_—
H i = o - - i P - | ———
: 3 33 3 4 s B 3 ‘ 5 '“V“ i :HI—Z_M._‘\”' R e /
. 3 T3 5 3 ! [ emand (2 - PO - = : —
j ; i VT o1 Ayey T3 7 TLen2 Ed =
f D T R T L TMMzos | | o PATA /(A “ 7
i . Te T T ° T i 20 | \ : 7
: ¥ 2 | b ~12 ! 2lzo 5 :
. i O S 27512 : i ST sHap 2 52 R N
; N i 5 : ~ | 2EX 3 . : WP BN, ze2 TN
Czz0A 5T B S 3 re/6 ; ST . : P 31 + ks P22 -
: } 2 2 - H TR L T SUU I S (S~ TLag2 TTE sy
L Tt jp—= 1 M] N 0o L et 5. Sy ' — — oM - 2
! P S \ 23, ! { }’ 5 i i T 9% 9o LoTE
S I S 220wk ] TSR P Mmienz g e ‘ see
-~ T3 v 25 . "; . EE T2 FTIVE 3 g TCiesy
13 e R i 7 3 . B84
UL P T = ' ¢ . ep e — ~-,—§\_.,€f‘
e o VEC Ty ; ! e s, ; gk
2 15 - 3 ! i i 3 sand T ssop : ; Tz - N e
ca = E i .- T aend - P : Iaxs Sk - N, o
TeIn q fuo ‘ ’ v ' ..’: , 52 4.7k -=RT
= i = 7 e T —
: ad i B oy Tu - - * - - o L
- ~ H —C ‘ / EYY —_— .
. ! cDd ) 703 L5 57 i 234 5§ 97 ' i my —- s 2t |
; | : 3 fri ; " Soup ; ; 314 TI0 0 £ lrst
! ! K ,“ ,3, iS5 51y ; [ 1ot et Siie 7 - Tewen i : i 7 37
i _50.1[21;1455,6;7| =9aiuz|3'us.b|7 = A i 27 Lk et — 5p
. F ' : 1 | !
N : A o A Z i E ; MIX
25 : ° | . AR 1 t - | -
i 3 3UsE a'xz—/‘ ’ y i, T i P ‘ — =
‘ ; e 1Y :cur—c' i i . ! ==
.,1 —c';:“_‘.::ut ~ '{_;/7 i I ! 7
5 T2 :
3 ‘j———v - { ’N - i 2umv :.m i 4.'7?\ ! y
a1 LS P e s | L Tew } KS ——— -3 !
) : IOU 2 Vee 5 = (3w T ree our 27 . i
[, ‘ w58 i e e T ¥ 17 |
LS ; kS : Vamrem , : Stu 33K 1
: T'l ~ =: = 33 ; I sl OAC2Z | AT ¥ !
‘ T N B PR T3 T (hoTs2od | % . |
i U ‘L a2 . L3 ! 7 1 §i b <20 .
1 : i 2 4 ; 3: s T 2z /—6 Py 53 1—0——-, y . ‘
:' . % (IR 3 3 1 ; Y Fa At /-—m Lm"'_': S ls:sznp« : i
] H. “‘ b 17 D4 i ! 14 4 My 27 — I i
H K N— = = . . .= CJ—— B ——f § —
i — g‘ y s 7 ; 12 3514 PEY . s e ? L Son i — ——
i ieg te e 2 H > " Tx o | ; - R o e e A R : i - 57
i /,—?;;.—2—3 NT MOEQ :, — - — 3 - 4 \ 258 Guo '/ :
_— : : P : -
: . QREQ - i [ Lo - : :
; X o g | | 3 OUAL PN 017 : ca :
oA Pl MHT l LGT dctoss
~AIT Lo 2PN ( "‘Q?__'-:umv
NMt k2388 | ; - £$137 1
) SET B ol B P ; T s
: X ; s
: = i' '(— 1I< ! “Lk2
. : {
¥ ] .
: J o ] ‘Rev | e K S s AT, - x ATHO
: U= L% T e x2 U
H T -:‘ =e
- A 2 -~
AR B I AT, Agwo 2 RAase
| b i ay Ll = =
/ : ol ) PN OIP - X &ﬁ; % Fr /\< ' Tioe,
2 &~'<:m of 2 bt oy
. — S xendgis g8 s
r=g = Sun M T ‘ s
; _ ~E) ' 303 f ; 'e ?ne..'L\!‘)h MY .94 \; ] —=c e
| | o | ur& P b R or2 | 1]
n I t 1apt 30t i -—_ ¢
21 2L | 26 [2m 2Ry 3! 6 138118) T gy 2902y, 27 % 0% %93 .az Hr lei»ie 7 22 4 le
— — s — — i -
~E ~E L—" o it t zGAT - Ap -3 | <& { < \Iér————c‘ C
L 1
S |y i ﬁ:
: n NEST! - S SE GE! e o= 2 — ‘C‘ “
s | - = 1Y o ‘E'
' : 5 NewrE ZiE-E2 R el mee | IH Ep M t"’HISpr‘\"-t ; : ”iﬂ |
. NESEE i3 SA0cC JE L SR W Y £ ep " MARINGT T T HLSEE =
: 201 3 — ’ ~ ¢ LA L T L i
L THM20is p TMm2os P 5 PRrEEE N T i PM,,,}% 'LLIN YO WAY SE CQ’P%ED S
: —_2 i — 2 T A2 /A . I MR} MAsK . R . 1 INED ON DE L\ ND. ’_.‘L . - 1
: i ‘ ! s NS <50 zn FJT) ER— < ] A HALK 334 HASKJ?,_K:A ; O 7 - 1 : . 2113 ] e 7 .
) Y P98 7| (. P Z i - :
) : UL ; s
: Fuvaai Yo ml HERE SEEN 1 -~ Y 3ank 5 BANKL BANK 2 P TR
; f;s 1 KN - m e g ! . ; ! BT
. — T * o 10 i ;
: 2 3 AN 3 Ta i 1 { 24 " |
i Icro o 5.2 Nt I -
- - R AN 5 T 3 r
T e 17 4 i 3 -
) _ Y e . TerT rerz
: e ‘____:M -—L——’ ¢ — P
$h/ 2234587 oLz o, ‘ ; z,_x'};,.-g;‘;,,., B -0 | Dareve- 07 =ML AT & 222 <4 A

. . § I3 3313008 1 30d 30 ; " o Ise]ss(saisrisnisesofst - Hlhshisio mvimiay 30 - 2 o8 21 . DnZ A ]
i ‘o PGS T e 3 56T 34138 450437135 133140 umm,cu. HuMI u'r sziun . Vo SL\JA SEGA ENTERPRISES,LTD =
; ) : e I YT G B m Nty e e ool ] 2= ] ] - al Sl Mmoo af ot ‘ P . ! *lassy  ZRTA™
o P R - ! | z & i |2l 3jars5i6fg o1 God|- - go7] [ ons omiwieg wi % 0 wav e coren. FAFoAE | k0 AL en
-,obtf;:;xwls-sw: 2081 i/ nijzif3 s si . I D v ’ ! I | ’ ! - ya | 2 , ; Y {7 e RETUMED ow SEMANO. ARFEZ | onw. = A -y
! R ; ‘ : ! ] RN A e 1~52 o3 i REV
; s oo Lo ; ! ! |
I I I J mar RA 22K VGOME ID AFTER SURNER
R g N N [ B . J | . : s =N S &
' - Lt Ras i - 334-£225
H SESCRIPTION 2aar .
“"_ e - — warT /2 e 3




ETS ZoNT -
a1 bk ;
P2 Y !
i |
- - i i ' H - ’
SONY CXDig95@ (stem TTahist-s?) o SONY CXDIOFSQ. 738 s 750 17-5)
2 pe3 ppo Ay nert oy T
—= 2 s ' : =
o / 5 iy i H Bl ’l
- P "’ 4 : . 0.'1} 3
o 3 _“}"‘1 1 i | 2.A
o 2 ' ’ 1/ a4t A & Apd
i - T ! , = N APy L ""P....o
= ’ H i ! £l < ) owi
U e 3 2 ' . )
) N bt £
3 -n : \ i ' 31 P
e seel l m - S i . e = % sw2
“ : ! - - ! = :
- < ; i ‘ i e k4 .
S 3 1 z _
oo . B )
i 2 436 ®
| — S - —_— . e -
< | | s : =2 TR
| ? .
ey | ! | ' b ‘.-,7' 3 B : —_—
&4 X ; i : — Lo P27 seLav
s ::o i ' ' ’—, :VSS :- g R — >
2 iR _a i T w I 7 T L seNXE
Y Q: ; TS oz FAILC . o -7 — " EREE AN
. ! ' . § ——— /= = — .
PL. Lheemw i . 7r-—;;5_3—|'° : - Par . : 31 TES
[t gl - 3.7 MAC 3 : v
Y . 5 3 e g { “Ac2 a1t ., Lp owal dz 4 L1 wa—
. : , 2ok KV o [ES a1 AT
3y T i A ‘/’“” S 3 iy MACL  #]4, .2 . a - - B
| .—,-—- i/2 ot P (4 . i PR P — ..
‘ < TN 2 L1 e 2 ‘ o P - -
31 L ) prem 10 l -, “"u 2! '
| 21 e - - { s 34 S _—
‘ PEPUNN SR ‘ Vo 2.4 >
~ II‘ 3 o b i : 1 P [ ) - .
7| T ! = Al 7 U A -
szée prme 2 . { T2 3 ape ! i : s
LsTa R IS T g — Y- -
- cE } e A rhx® 7 Py ! 5 > = ﬁ ’\ - Ny ) —_
== " = g5 o ¢ e iz > —
[ a3 L= , 1% ] ' : \ W—e
e -2 | s I il - ; = .-
Z find 2 J . 3
) . . -~ 22 7 s B V‘v\—.
=T e > A b 22— e TEP 1:. ‘ s
N 7K &L Y i Lo A2 e 1 i S
P2 R oo S g2l FRenT e SH T A ~u W%E "‘-‘EE —
. ! PoTR ‘Q—)"', P 4 . R b
! F'v [P —A- A —
; RET HIS DRAWING WILL [N D Wiy COPIED
- [l - \ : 105 L" . - ; ‘.‘-- B AV ..;[4
i i ERETURNED Gi DEMAND
. - . ' H N\ : —_
P2 zaC 13 : i U I i O 1 O 1 it n7 Q 7 Cooanel
P2 r—10 c3~7 : ! o : L ? T p—
P2 TR MWK A / . — H ' —
R — 1 i | S :
R 45T _THRD i I 3
H 1
2o 3 | { i .
P2. : - : —— J e
.Auéo/ .__a :
‘ i reeps tormcn SN | T
l. FLT3T ‘ SIODE ARRAY pgid ‘ﬁ» z~ @ L —
* ™ FILTER 3 , T is
‘ N 2 AL -\{’4 h
i —To - r T4HE 48] O CH F05/ oz .__—C] 2
———— | f -~ SRS —_ hd ; S
‘.g ~— ! i l ! - | o T g Ty €27 ca c3e Ca2 \—arrs 1] Aw
v A0C Y8 : ' i L - ] — 4 - A 4
iz;' i : L ! ; | Yo SHAEAS .____-‘-l -.: 37 s&:%i}? T fxu;:)(‘f G rex T08) \__pers j —_:] 27
pr. —=2 T s | | \29e2 4 i | e, — P 2,022 X 3 1004 /87 o - ] WL
- i N . H > A
' ; M- 3 15 T oAl _Zmy 2 i1 33 74 & Aoz ﬂ 11 CoIN b
! N7 -3 - [ — 2. ar T Com £* ~ora BT o= ] N
| ] 3 — - T 1 312 7?,," 7.6mn £ 4 | — - ;) i — 2
i e - Az =l
! : i g— oo = A4 Co2nCide \_osrs ! Y TlETeR 2 —_—s
N - — " 3
> = A ‘ e A s ] 3§ ] 220 STRRT _
. B > 23 32k i . I e i - \__swr2 Lo LAHP —
< 3 - apm . 2d2 ——s 1 Ak J— e 2 !
4.7‘0./ « e D t i — == ICHk6 T ! | —_ L AMe ™ =LT,Q—1 —A zeasnd 3 L:‘hp
T q o T T e : : <} & \ZonmECSR . ‘T‘ - \__2PT/ il Vet SRIVE
RA 42 > Du - 5 ! AT 2 - ! A ' i e i ]2 12
2 z HNT s Inn ‘g - L i o -IPN i — —= |1 1 Amp
- 2 ° £q 2 cag | oAz el e e __""-“2’ 1 ZPTS L L - MUTE . 1z Ji]
; 2, a2 ! s l— 3 e p— 2
: [T [T =3
o ] A AR — 1 2
- . - - o
ppa— e = S o : -
; | ca ALt — ] =
| ! l = e i < —-1 Q2 T
; - = 2TT B
- - T % __l 31
| ~
1 22
C a7 oA ik ) - | = - arn. TP e
I = (=] | Ly e <
> ; 7 a: | SEGA SEGA ENTERPRISES,LTD. | oS 7= 7|
: ; . . — < LEEET] o AT,
ne—1 2w ° EMURLT 13 a2k {@aAmod ETms A e e TN e
TETSE - He—{1 3w ] C | REV '
: == S ST =
DTAKA 52t T =L /"F EUNER 234 -£225
A { JESCRIPTIGN v
p - — SeekT [ R e /2
7 Pt _(- + 3
. e =

‘






